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Grade Boundaries

What is a grade boundary?

A grade boundary is where we set the level of achievement required to obtain a certain
grade for the externally assessed unit. We set grade boundaries for each grade, at
Distinction, Merit and Pass.

Setting grade boundaries

When we set grade boundaries, we look at the performance of every learner who took
the external assessment. When we can see the full picture of performance, our experts
are then able to decide where best to place the grade boundaries - this means that they
decide what the lowest possible mark is for a particular grade.

When our experts set the grade boundaries, they make sure that learners receive grades
which reflect their ability. Awarding grade boundaries is conducted to ensure learners
achieve the grade they deserve to achieve, irrespective of variation in the external
assessment.

Variations in external assessments

Each external assessment we set asks different questions and may assess different parts
of the unit content outlined in the specification. It would be unfair to learners if we set
the same grade boundaries for each assessment, because then it would not take
accessibility into account.

Grade boundaries for this, and all other papers, are on the website via this link:
http://qualifications.pearson.com/en/support/support-topics/results-
certification/grade-boundaries.html

Unit 3: Personal and Business Finance

. g Level 3
Grade Unclassified p M D
Boundary Mark 0 27 43 60
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Introduction

This examiner report should be read in conjunction with the question paper and
the published mark scheme. The report provides an insight into examples of
responses that scored highly and responses that scored less. Centres could use
this with learners in their teaching to ensure they understand how marks are
gained.

This was the second sitting of 31463H Personal and Business Finance. The paper
was of a similar nature to June 2017 in terms of its layout. The paper consists of
two sections. The first section (Section A) focuses on personal finance and
consists of both short and longer answer questions and is worth a total of 36
marks. The second section (section B) is based around finances for businesses
and is worth a total 64 marks.

Introduction to the Overall Performance of the
Unit

It was particularly pleasing to see a higher standard of some of the extended
written answers. Learners frequently demonstrated good subject knowledge and
showed improved skills of analysis. To improve performance further a number of
learners would still benefit from providing more balance in their responses on
the extended written answers and by giving justified conclusions where these
were required (questions 6 & 14). Learners who scored higher marks in the
longer questions demonstrated not only good knowledge and understanding of
the content being addressed but also the ability to apply their knowledge and
understanding to the context provided. As mentioned for the June 2017 series
paper this is a fundamental requirement in being able to allocate the higher
levels in the extended writing questions, i.e. those questions starting with the
command verbs discuss, analyse, assess and evaluate.

Learners will continue to benefit from practicing their skills in order to apply their
knowledge and understanding to a broad range of contexts before taking the
assessment. Centres should consider carefully how they plan their curriculum to
ensure that learners have had sufficient time to practice and prepare before
taking the exam. There was a noticeable difference in performance of students
who have been studying the qualification for longer than those who have been
registered more recently.



Individual Questions

Section A - Business Finance

Q1

This question was well answered with the vast majority learners gaining full marks.
Common mistakes were to give actual account names rather than the type of
current account. An example which scored full marks is given below.

1 Identify two different types of current accounts.

The following example scored one mark.

1 Identify two different types of current accounts.

Q2

This was a relatively well answered question with almost two thirds of students
gaining full marks. Common mistakes made by learners who did not score full
marks included:

e Appearing to misread the question
o Offering features of general insurance (e.g. protects your house / car)
e Being too vague so that the answer does not clearly apply to the

question.

The following response is an example that scored two marks.



2 Identify two features of travel insurance.
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The example below shows a learner whose first response was very vague. The
second point was rewarded so the learner scores one mark.

2 Identify two features of travel insurance.
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Q3

Some learners were able to fully identify the advantages of using price comparison
websites. Some learners simply gave two advantages without further development,
or with limited development which would then result in two marks being awarded.

The example below shows a learner scoring all 4 marks by developing both of their
answers.



3 Outline two advantages to the consumer of using a price comparison webslte
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In the example below, the learner has not developed their first point sufficiently
(comparing prices on its own is not sufficient as this is what the website is for) so
only one mark was awarded. The second answer was also not developed
sufficiently so scored one mark. The overall score was 2 marks.

3 OQutline two advantages to the consumer of using a price comparison website.
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Q4

This question asked learners to discuss the benefits of contactless payments.
The majority of learners scored in the second band showing some good
knowledge and discussing the benefits. Answers were frequently one sided
which limited learners to level two.



The learner below has covered a number of advantages which have been
developed. Accurate and thorough knowledge has been shown. The argument
is balanced and uses specialist technical language which places it in level 3. Had

the learner developed the second disadvantage slightly more this answer would
have gained full marks.

4 Discuss the benefits to consumers of this method of payment.
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The learner below has discussed some benefits of contactless payments.
Knowledge and uderstanding is generally accuate but the discussion is
imbalanced. This learner scored three marks.

4 Discuss the benefits to consumers of this methed of payment

Q5

Many learners understood the benefits and drawbacks of both overdrafts and
personal loans, and were able to discuss the benefits and drawbacks of each.
Learners who applied their knowledge and understanding to the context provided
in the scenario (short term vs long term and cost implications) were able to pick up



higher marks. Responses that were limited to only one source of finance or only
provided the positives scored more limited marks as a result. Having a balanced
argument for both types with good content to the question gave access to the
higher bands.

The following example is a level 2 response that scored seven marks. The learner
has discussed both overdraft and personal loans and discussed some features of
each. The answer is not fully balanced as the overdraft is weaker than the loan
argument which is strong. The response is relatively clear and uses specialist
technical language.
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In contrast, the answer below is placed in level 1 and scored 3 marks putting it at
the top of this band. Whilst the learner has written a considerable amount not a lot
of creditworthy points are raised. The learner has made some but then goes off
topic. The answer lacks context with gaps and omissions in knowledge and it also
lacks balance.
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Q6

Some learners showed good knowledge and understanding of the different
financial products on offer. Achieving a mark in the level 2 band was a regular
feature for many learners. Other learners simply stated which one had the best of a
particular feature without development or application to the context and these
learners achieved level one only as this limited the amount of marks that these
responses could be allocated. The stronger answers were able to discuss the
benefits of the products and how this might impact on Malik in a positive or
negative way.

The following example is a higher end level 2 response that achieved a mark of
seven. The learner demonstrates good knowledge and understanding throughout.
There is a clear application of knowledge and understanding of the context by
discussing the impact the decision could have on Malik. Judgements have been
made about the benefits of the products with a comparison between them. An
evaluation is present which is justified.

13
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In contrast, the following example was placed in level 1 and scored 2 marks. The
answer is very limited in the argument put forward and lacks balance as it only
discusses one product (Devon). The conclusion is not justified. The drawbacks of
other products are not considered. There is no real linkage of the response to the
context provided.
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Section B - Business Finance

Q7

The majority of learners were able to gain full marks by giving correct answers.

The following example scored 2 marks.

7 Identify two different types of revenue expenditure that a small business is likely to
have.

, NAERACD A e Cnaes.

In comparison, the following example only gained one mark. Whilst the learner has
correctly identified material as a potential cost the term staff is too vague. Staff
wages (or just wages) would have been accepted.

......... MOFEOAQL
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Learners were not quite as well prepared for this question with around 60% of
learners scoring marks. This following response was allocated 2 marks because, as
well as defining what drawings are, the response was developed by providing an
example.
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In contrast, the following response scored only 1 mark. While the learner identifies
that the owner can invest funds the second answer was not correct.

Q9a (i)

The majority of learners were able to correctly calculate the variable per unit.

The following response gained 3 marks for the correct answer. Two technically
acceptable methods of calculating the answer were rewarded in the mark scheme
which gave good accessibility to all learners. The example shown below has

included the wages as a variable cost which is then added together with the cost of
the raw materials.

Show your workings

gi),-f 7.2 = 6-25
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2
6-254&>5 ':E

In the following response the learner has calculated the cost of the raw materials
treating wages as a cost which is not directly linked to production. This was also
rewarded with full marks.

18



Show your workings

75 x36- 1
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In contrast, in the following example, the learner has not shown any of the cost
directly linked to production. Since both the answer (incomplete) and formula are
incorrect, no marks were awarded.

Show your workings .
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Q9b

Learners struggled to calculate the margin of safety although many did manage to
link it to break even as a number did calculate the break-even point. Where
learners did not score marks, the answer was incorrect and no correct workings or
formula were provided. Learners should show their working as marks can be
awarded for correct formula (in words or numbers), even where the final answer is
wrong.

When marking this question the two methods of calculating the variable cost per
unit (as noted above in 9a) were carried forward into the marking of 9b.

19



In the following example the answer received all 4 marks.
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In the next example, the learner has given an incorrect answer. However, we can
see in the workings that they have correctly given the formula for break even and
have correctly calculated the expected quantity of sales. The learner has not
correctly taken forward the contribution (they have used their own variable cost
figure) so cannot be awarded the calculation figure. Has the learner shown the
formula for calculating the margin of safety a third mark could have been awarded.

Show your workings +C
PO

Q9c

Only a few learners gained full marks for this item with a wide range of marks being
awarded. Learners were rewarded with marks regardless of which column they
wrote their figures as long as it was in the correct section of the statement and the
correct amount. Two marks were awarded for the profit for the year to prevent
students being disadvantaged by not writing the correct label in the shaded box.
Common mistakes were to only include credit sales or to add sales and cost of sales
together for their gross profit. A number of learners included additional items into
the statement (e.g. trade payables) which was treated as an extraneous (alien) item

20



and the total for expenses was not rewarded as a result.

In the following example, the response was awarded 7 marks. One mark was lost
for included an extraneous item (trade payables) with the second lost for not
including depreciation.

Bella’s Bean Bags
mnwmnu—,—m
31 December 2016
£ £
Sales revenue
Cost of sales 13575
Gross profit
Expenses
Wages 18 900
Utilities 381

The following response received four marks. Two marks for revenue, one mark for
gross profit and one mark for discount received.

21



Bella’s Bean Bags
Statement of comprehensive income for the year ending
o : 31mm_¢ _

£
Sales revenue squ o9&
Cost of sales 13575
Gross profit 25,521
Expenses
Wages 18 900
Utilities 381

Q10a (i)

Around a third of learners scored full marks on this question. For learners who lost
marks the correct formula was not always shown and some learners appeared to
calculate the contribution to the previous question rather than for this order. Two
methods of calculating the contribution were rewarded to allow for the methods
which were used in 9a and 9b.

In the following example the learner scored all three marks by deduction the raw
material cost per unit from the selling price and multiplying by the number of units.

22
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In contrast, the response in the following example scored 1 mark. The learner has
correctly calculated the revenue figure. However they have incorrectly calculated
the cost per unit and then tried to calculate the contribution per unit which is then
taken off the sales revenue.

Show your workings
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= = s 300 |
4TS
—

Q10a (ii)

This question showed that a number of learners had learnt the formula for gross
profit margin and, even if this was incorrectly calculated could still access some
marks. A number of learners scored full marks.

In the following example, this learner scored full marks using the second method in
the mark scheme.
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Show your workings
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In the second example the learner has shown the correct formula and received one
mark.

Show your workings Pragit
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F_b_[?_eueﬂ-ﬂp ———----.....__?5_ qoed Seld
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Q10b

Learners appeared to struggle to recall the formula for gross profit mark-up and

marks were lost on this question. A number of learners used gross profit margin
formula losing marks as a result.

In the following example, the learner has correctly identified the formula in words

24



for one mark and then correctly calculated the contribution (using method 2) so
scored 2 marks.

Showyaurworkmgs 2 \O ’r 2 qo 5
g( p( %x\w l&“5—7

In the following response the learner has used the formula for gross profit margin
and therefore scored zero marks.

Show your workings

Mork. P = Gread Profit [ Ravenus xioo/

Qi1

This question produced a wide range of responses. Learners who scored highly on
this question were able to explain the benefits and drawback of using a cash-flow
forecast in a coherent manner showing knowledge which was well developed.
Learners who produced a one sided argument were unable to achieve the higher
band marks.

In the following example, the response is level 3 and scored 5 marks because the

learner demonstrates a thorough knowledge and understanding of why a cash-flow
forecast is important
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11 Discuss how useful a cash-flow forecast can be to a small business such as
Bellg's Bean Bags.
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In contrast, the following example was a level 1 response and was awarded just 1
mark. This learner shows very superficial understanding of the concept (e.g.
expected money generated) but then goes on to discuss profit, showing no real
understanding of a cash flow forecast.
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11 Discuss how useful 2 cash-flow forecast can be to a small business such as
Befla’ Bean Bags.
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Q12

Only a few learners appeared to have good knowledge and understanding of the
venture capitalist and how their investment may have an impact on the business.
Some learners did explain this well and were able to explain the benefits and

drawbacks of using venture capitalists. These learners scored highly.

In the following example, the response was allocated level 3 and scored 7 marks.

The learner gives a good explanation of the impact a venture capitalist might have

on the company with a balance of benefits and limitations raised.
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12 Analyse the potertial impact of using venture capltal as a source of finance on a small
business,
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In contrast, this following response is less well developed so was placed in level 2
with a score of 4 marks. Points are made on the benefits and limitations but these
have been made on a superficial basis although there is an attempt to balance the

argument.
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12 Analyse the potentlal Impact of using venture capltal as a source of finance on a small
business.
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Q13

Learners who scored highly on this item were able to make a well balanced
argument for and against taking the order. They were able to give context and
discussed the short term impact on liquidity and operational issues versus the
longer term benefit of improved profitability. A conclusion or summary was often
present which was justified by the evidence they provided.

In this example, the learner scored in level 3, achieving 9 marks. Both sides of the

argument are considered and the learner has considered both short and long term
issues and even potential solutions to some of the issues they have raised.
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13 Assess the potential impact that this new contract could have on a small business
such as Bella's Bean Bags.
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In contrast, the response below scored 2 marks only, putting it at the middle of level
1. The learner did not provide any balance to the argument which centered around
short term cash flow and the negative impact this may have. There was no
discussion about the impact it might have on ]profitabilitﬁsmn.
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13 Assess the patential impact that this new contract could have on a small business
such as HE@’: Bean Bags.
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Q14

Learners were readily able to compare the ratios between the two businesses.
However these were sometimes just listed and there was no evaluation of what the
ratios would mean to business performance. Learners who achieved the higher
marks were able to provide balance to their argument on a number of points and
used figures to provide context and explain what the ratio would mean (e.g. better
profit margin could mean better control of expenses or a higher selling price).
Within the top levels a conclusion was present which was justified by the balance of
the argument presented.

This following answer scored 10 marks, placing it at the bottom of level 4. The
learner has explained and compared the ratios providing suggestions on what
could be the reason for the differences and why the data may be beneficial. This
answer provides application, knowledge and understanding. It is linked to the
context and a conclusion justified by the arguments presented is provided.

14 Evaluate, using the ratics provided, the financial performance of Bella’s Beon Bogs
compared to Comfychair's.
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ﬂw:j_ e Cenls Cure.
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In contrast, the response below achieved the middle of level 1 (2 marks). Although
this learner has written a considerable amount, paragraphs 2 and 3 contain no
rewardable material. The first paragraph does draw a comparison with liquid
capital and the last paragraph discusses inventory turnover. The learner
demonstrates isolated knowledge with major gaps and an unsupported conclusion.
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14 Evaluate, using the ratios provided, the financial performance of Belia’ Bean Bags
compared o Comfychairs.
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Summary

Overall there are some clear examples of excellent practice taking place in centres.
Some strong examples of personal finance understanding were pleasing as was a
noted improvement in the structure of the longer written answers with more
evaluation taking place. Some candidates spent too long on section A and, whilst
they may have scored well this was sometimes to the detriment of section B with
some learners running out of time as a result. The following suggestions are made
on how learners can further improve their answers.

Ensure the question is read carefully to answer the question asked.

Ensure the amount of time is spread across the paper so all questions are
completed.

Always show the formula and workings in the calculation questions.

Where there is more than one mark available knowledge points should be
developed further rather than giving isolated points of knowledge.

Aim to produce a balanced argument on all questions of 6 marks and above
in order to achieve the higher levels.

Where there are two or more elements to consider always try to give the
positive and negatives point for each rather than just repeating the content
or saying “x is better than y".

Use the scenario provided to apply knowledge and understanding in context.
If numbers are provided, this is a good opportunity to use these in answers
to support the arguments being presented. If relevant, do some calculations
to help you to give good context.

Provide a conclusion to the extended written answer questions that is
justified based on the arguments presented in the body of the response.
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